10.2 FEURIEEITHE

MSA ~ MSB * MSR * SME ~ SMRRYIEH :

- I 0 0 0
BEHIRTERE 0.1 +0.03 -0.03 -0.015 -0.008
SEHAYRLEIEE Z=(AH) 0.02 0.01 0.006 0.004 0.003
15 — ' . 0 0 0
20 REWHIRTERE +0.1 +0.03 -0.03 -0.015 -0.008
EEW,AIREEE Z=(AW,) 0.02 0.01 0.006 0.004 0.003
ERCESBIABNTERTE AC (WNER)
SBEEDEE B BENTEFRTE AD (W1/a1R)
- S 0 0 0
BEHIIRTSTRE 0.1 +0.04 -0.04 -0.02 -0.01
25 =EHAIREITEE Z(AH) 0.02 0.015 0.007 0.005 0.003
- E— 0 0 0
30 BEWHNRIEFRE +0.1 +0.04 0.04 -0.02 0.01
35 BEEW2HIREMEE Z=(AW,) 0.03 0.015 0.007 0.005 0.003
ERCEY R BABNTERTE AC (WNER)
B DEY B BENTEFTE AD (WNHER)
- P 0 0 0
BEHIIRTSATRE 01 +0.05 -0.05 -0.03 0,02
=EHAYBLEIMEE Z=(AH) 0.03 0.015 0.007 0.005 0.003
45 . S 0 0 0
55 HEWAIRTERRE 01 +0.05 -0.05 -0.03 -0.02
FEW2RIBLEIMEE Z(AW,) 0.03 0.02 0.01 0.007 0.005
SBIRCEEOBMARNTERITE AC (W1BER)
BEDEE B BENTEFTE AD (WNHER)
= i tZesrao 0 0 0
BEHIRYSFRE 0.1 +0.07 -0.07 -0.05 -0.03
SEHAYBLEIEE Z=(AH) 0.03 0.02 0.01 0.007 0.005
m S 0 0 0
65 BEWIRTRRRE 01 +0.07 -0.07 -0.05 -0.03
BEW2RIEEMEE Z=(AW,) 0.03 0.025 0.015 0.01 0.007
ERCES R BIABN TERITE AC (WNER)
B IEDER O BBBEI TEFTE AD (W1/AIR)
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